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=03 GPIF CPPIB CalPERS  ABP  GPFG
2005 5.6 96 85 123 128 111
2006 5.8 35 155 11.8 95 7.9
2007 6.8 47 129 19.1 38 43
2008 0.2 76 -03 5.1 202 233
2009 10.4 79  -186 24 202 256
2010 104 03 149 133 135 9.6
2011 23 23 119 217 33 25
2012 7 102 6.6 0.1 137 13
2013 4.2 86 101 13.2 6.2 15.9
2014 5.3 123 165 18.4 145 76
1098 5.8 4.2 7.8 8 7.7 6.9
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20HZ  GPIF  CPPIB  CalPERS ABP GPFG
ZUIRFAF 729 62.9 39.9 50.4 T4 34.7 61.3
2HA 55 43.1 32.6 21.9 A 30.9 36.5
ZA 17.9 19.8 7.3 28.5 B A 9.7 22
sHQIZ}AH 16.5 32.7 42.9 26.6 At2mE 4.9 -
2HH 4.4 13.1 0 2.7 FHRHE 4.6 _
FA 12.1 19.6 42.9 23.9 7|Ef 15.2 -
7|EFRFAF 10.6 4.4 17.2 23
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(91 2 9) (191 2z o) (E91: o St 22l
J13(A)  AZ(B) A/B | JI3(A)  AZ(B) A/B | 7IS(A) Al¥(B) A/B)
EXN 83.9 1337 63 25.1 557.1 4.5 16 2562 0.6
2 258.1 1589 162 | 546 105180 5.2 714 629 114
0|2 CalPERS U= ABP =2¢9||0| GPFG
(el Hf gaf) (291 41 82) (S8 4o A=)
713(A)  AF(B) A/B | 7I3(A)  AZ(B) A/B | 7I3(A) AH(B) A/B
24 86.1 24414 04 | 1041 351.8 206 | 3,10850 2365 1314
A 66.1 38994 0.2 924 171980 54 | 187920 3994  47.1
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=UAZ 406 198 2.05 61 30 9 34
GPIF(Y) 1,222 78 15.7 68 32 0 72
CalPERS(D]) 273 341 0.8 28 52 20 35
CPPIB(7H) 206 886 0.23 34 49 17 24
GPFG(tx) 859 370 2.32 37 62 1 4
ABP(L) 416 285 1.46 42 33 25 20
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> 2014EY 7|2 7|22 21.9%, & 102.62YS S| AtAt0| EAf

> Sie|FAl 12.1%, SHRlZHH 4.6%, SHRICHA|FAFAH 5.2%
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